3-4 Solving Multi-Step Inequalities
I can solve multistep inequalities. 
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When I multiply or divide both sides of an inequality by a_________________ number,  I _______________ the direction of the inequality symbol.  

	Solve
 2z + 7 < z + 10                                              Flip?  Yes or No


	Check

	Solve

                                                                    Flip?  Yes or No

4(k - 1) > 4

	Check

	Solve

h + 2(3h + 4) > 1
                                                                    Flip?  Yes or No


	Check

	Solve

 r + 4 > 13 - 2r                                                Flip?  Yes or No


	Check

	Solve the inequality and graph your solution

2(3 + 3g) >2g + 14
                                                                    Flip?  Yes or No
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	Solve the inequality and graph your solution
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(2t + 8)  > 4 + 6t                                             Flip?  Yes or No 
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	Solve the inequality and graph your solution

    3j + 2 - 2j < -10                                                  Flip?  Yes or No
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	Solve the inequality and graph your solution

   2(5t - 25) + 5t < -80                                            Flip?  Yes or No                                        
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	Solve the inequality and graph your solution

    5 + 6a > -1                                                         Flip?  Yes or No
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	Dunia is going to a carnival.  Suppose it costs $5 for her to enter the carnival. Each ride costs $1.25. She has $15 to spend at the carnival. What is the greatest number of rides that she can go on?


	 Hadi is renting a car to drive Nick to see Vanilla Ice in concert.  The cost to rent a car is $19.50 plus $.25 per mile. If he has $44 to rent a car, what is the greatest number of miles that he can drive?


	The student council is sponsoring a concert as a fund-raiser. Tickets are $3 for students and $5 for adults. The student council wants to raise at least $1000. If 200 students attend, how many adults must attend?



1. When do you need to flip the inequality symbol? 
2. Did you need to flip the inequality symbol today? 
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